[bookmark: _GoBack]Name: ___________________
CERS: Shakelolgy 
CLAIM: ______________________________________________________________________.
Evidence #1: According to ___________________,_________________________________________ _________________________________________________________________________________
Reasoning #1: This relates to (restate the claim) because ______________________________________ __________________________________________________________________________________
Evidence #2: According to ___________________,_________________________________________ _________________________________________________________________________________
Reasoning #2:This relates to (restate the claim) because ______________________________________ __________________________________________________________________________________
Counterclaim: On the other hand some people might say _______________________________________. This point of view makes sense because ___________________________________________________. However,_____________________________________________________________________________________________________________________________________________________________
SYNTHESIS:_________________________________________________________________________________________________________________________________________________________

CERS: Reach Toothbrush
CLAIM: ______________________________________________________________________.
Evidence #1: According to ___________________,_________________________________________ _________________________________________________________________________________
Reasoning #1: This relates to (restate the claim) because ______________________________________ __________________________________________________________________________________
Evidence #2: According to ___________________,_________________________________________ _________________________________________________________________________________
Reasoning #2:This relates to (restate the claim) because ______________________________________ __________________________________________________________________________________
Counterclaim: On the other hand some people might say _______________________________________. This point of view makes sense because ___________________________________________________. However,_____________________________________________________________________________________________________________________________________________________________
SYNTHESIS:_________________________________________________________________________________________________________________________________________________________

